
28

g′(x) = sinh(ln x) · 1
x
=
sinh(lnx)

x
.

36

y′ =
1√

1 + tan2 x
· sec2 x =

1√
sec2 x

· sec2 x =
1

| secx|
· | secx|2

=| secx|.

57 ∫
coshx

cosh2 x− 1
dx =

∫
coshx

sinh2 x
dx (cosh2 x− 1 = sinh2 x)

=

∫
du

u2
(u = sinhx, du = coshxdx)

=− 1

u
+ C

=− 1

sinhx
+ C.

59 ∫ 6

4

1√
t2 − 9

dt =

∫ 6

4

1

3
√

t2

9
− 1

dt

=
1

3

∫ 6

4

1√
( t
3
)2 − 1

dt

=

∫ 6
3

4
3

du√
u2 − 1

(u =
t

3
), du =

dt

3

=

∫ 2

4
3

du√
u2 − 1

= cosh−1(2)− cosh−1
(
4

3

)
.

61 Let u = ex, then du = exdx. So ∫
ex

1− e2x
dx =

∫
du

1− u2

= −
∫

du

u2 − 1

=− tanh−1 u+ C

=− tanh−1(ex) + C.

(To be rigorous, this solution is only valid for x < 0, where ex < 1 and tanh−1(ex) makes sense. For
x > 0, the solution is − coth−1(ex) + C.)
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